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CHILD DEVELOPMENT AND PEDAGOGY
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Each question has four possible / probable answers. Choose the correct answer
from among them and darken the appropriate circle completely in the OMR Sheet

with Blue / Black ball point pen.
Agep Ayaefs Ay {LYD6 O0xae “+ee$pcLy OAY "eeB6 “aevy¢ QOYae “+0éty LyA
(A) H{ e (B) s¢. B. Fy6 FOU. Oc. B. AaeAuy. s¢
() Feetly. Oc. s¢. B (D) B. Fay. sc. AeeB

Which organisation of our State prepares the courses of studies for the primary

level ?
(A) OPEPA (B) TE & SCERT
(C) NCTE (D) ELTI

ceyc{p§aeNy pSA&Y {LyDos¢ EGEEAY EaeAyeAycLY Auyc 0yecLéy OidzeDdg 7
(A) ;eyLyaeAyaeSLy B) “Aycpae~aeSLy
(©) Sé~aeSLy () OLyaeAyeeSLy

Which one of the followings indicates child’s physical growth ?

(A) Negative (B) Quantitative
(C) Qualitative (D) Positive
V¢ Ny¢ ceycfAY pe&ieefINEERE~ 15y D{Ay Ae™aeAycty ?

(A) ez AGREY Vo) Ay...0Yic (C) +¥aoe#y +pae'ip) Ose{ a "+1yc yyo
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“Individual learns from his own mistakes” This statement is based on which learning theory ?

(A) Instrumental conditioning (B) Insight
(C) Trial & Error (D) Classical conditioning
eych8NY pSAEWMIGHIR g8 Edyo

(A) ALYG BY+¢ FLY {f3 YeLy "+Ly+cRee (8) VeLyeeE FLY "Aychae~eeSLy “+Ly
(C) Ecéee FLy aya¢eepuycheQeé "+Ly+clk@ Eca~ FLy AeedAy~Sty "Ayc Y yoo
Which of the following statements is not true ?

(A) Growth is a biological process
(B) Developmentis a quantitative process

(C) Education is a goal-oriented process

(D) Learningis a process of behavioural changes

JUe& YeLyAy “+ES {aty+{AyyelaipssiifioyDo TY$¢s¢

(A) Aceyuycj Ecaly ps OUYF{AY "+~ES "+O&ty LyAyc eAy;jc

® OpO YeLyAy DYAy O» Y ploejUeyF

(C) Ly, &sAy pae3p{Ay ceycuéyoay H yaty piayeeeRaey {UyeB a{Ay
D) YCLYAy paeceyzy pSAEY baety+ {SeescF vycLuy DYAY Als
Which of the following statement is not true in case of multiple choice questions ?
(A) Evenaninexperienced teacher can prepare the questions easily

(B) All choices appear to be plausible

(C) Error-free and quick evaluation is possible by computer

(D) Only one of the choices is the correct answer

Ecase$oepaceyZyAy {EdACLY {Yeel-'&6y yoAytyee {LyD6 "+LyaeAy piay¢aRo
(A) V¢ yxeecey (8) Obee©cOIylLE) ceycAy yaycYb) {ceydyeeceycLy

What type of evaluation identifies learning deficiencies and difficulties of the learners ?

(A) Placement (B) Summative (C) Continuous (D) Diagnostic
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7. f{~deety=Ay oYty FROpeecey O HIHABPEY deety=sc ceyc{pSeeNy {LyDe
{Uyy?
(A) Ozebaecey: @ecapYVeeAy~ @Y YL &j-c Qpy AOz™aeAj~ €j¢ O

Both the chronological age and the mental age of a pupil is 7 years. He may be classified

into which category ?

(A) Below normalintelligence (B) Normalintelligence
(C) Superior intelligence (D) Genius
8. Oia 1y;eyasAyoeyae 'Ateilydvciuasdeppscy 2
(A yetey O6{FseeSELYAY~ ) EotyaycQoey
(©) UyOeedAy aycQoey (D) UYAY H "ey¢ Ayc Yoo "OSLYELYAY

Which is different from the other three with respect to fine motor Movement ?

(A) Dot Joining (B) Dictation
(C) Handwriting (D) Separation of fruits and vegetables
o. "reelapclapeaty+{Ay FLY OpBR{Ay A8AY {ayQc Yee H JY “eesc{Ay "P¢Va
YseB$aeFUyee {LyDO0 Eca~ Ty'y D'{Ay Aee ™MaeAycty ?
(A “+Yace#y +pae’y (B) Aceéy yay
©) Ay...6yic (D) AceéyLyAy~

At the pre-primary stage reading aloud while writing is given importance. This is based on
which theory of learning ?

(A) Trial & Error (B) Conditioning
(C) Insight (D) Imitation

10. "+E8-"ty+ ceyOyee "+O&1yc OpR{AY ceyc{pb8aeNy p3A&y LyseeUyaelLey Ycaee.
(A +08ey (8){EdacLY D{'E4C) "+E8AY "+Lyaefyiigage jaecey OpR
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Which one of the following is not taken into consideration while preparing the blue-print for

atest?

(A) Topic (B) Instructional objectives

(C) From of questions (D) Teaching time

b{ceyee Yejeeey {UYDdg

(A) AseSee O,Ly0ER Ycjeemy B) peyO LyoeR cjeecey

©) {Vytyceyse O LyoeR Vcjeeoey (D) Ase' YAy~ O LyoéR ycjaeoey
Psycology is a

(A) science of soul (B) science of mind

(C) science of consciousness (D) science of behaviour

{LyDos¢ Apye{ +Ay~aeAy FLY D ae'yaecey ceéy{Uyo ?

A “6AyOyeeAy B) {+aelseUyoeir) +E6Os (D) ApyeaeOELyAy~
Which is not a factor of motivation ?

(A) Prize (B) Incentive (C) Praise (D) Practice

2 A&y 6 Y10 b ¢, V' A ekl YageF ?

(A) Ay yeedyppelBaE Ve yxax) ey yeedymyxaeeelyu {Lyd{EeAya
What is the stage from 2 to 6 years called ?

(A) Pre-childhood (B) Infancy

(C) Later childhood (D) Pre-adolescence

oeyc{p8aeNy {LYyDO “*1y¢ 'y seAyee peQ¢ 1V... EcALy Ecast§aepaeceyZyAy {S
(A) OesedsetyLyaeAy B) OO0 Ayéa~

(C)  YeNyc ASBoey (D) "Ya0¢{ ya~
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The teacher studies pupils group behaviour mainly by which of the following

methods ?
(A) Interview (B) Experimentation
(C) Case history (D) Observation

15. {LyDos¢ EcEeAy Aze{ySLéy OidaeF ceyaeUy] ?
(A) Aseceylty (B) 'éy...Q
©) {LyoteyUyAy D) OUychétyae
Which one does not indicate child’s emotion ?
(A) Pleasure (B) Sorrow
(C) Curiosity (D) Tolerance
16. EGEE ceyc{f ey {QAYc Aceye Ay {QAY{'YQ¢ Aseceyty D {uyeeS LyAyc yeel &y
@A) OLy+cR (B) PENY
(©) oeycl+eR (D) ceyeBicty

What type of game is it called when a child derives pleasure by watching others
playing instead of playing himself ?

(A) Participatory (B) Free
(C) Non-participatory (D) Controlled
17. {LyDdsg { Y0ecLy YclLyseEAY D ae’yaecey ceéy{Uyo ?
() Oofeey ENyeie) OUycey ENyec) &ciyey ENYgD) LyAyceyae ENYG
Which one is not an element of intellectual development ?
(A) Creativity (B) Tolerance
(C) Thinking (D) Imagination
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A) DCRAYp¢ aeoely ®) fcoeyl "cAae{f
(C) Seeauyscey (D) sAypeecely

“Analytic and Synthetic abilities of mind is called intelligence” — who propounded this
theory ?

(A) Spearman (B) Jean Piaget

(C) Galton (D) Torman

ceyc{p8aeNy {LyDo {E+~EAy Ecaae$oé "0ty {Saelé" {E+~& A;yuyoeNy ceéy
(A biyAy B AceyS=OAy

©) Oa™gAy~ D) “+tycuyseEseAyeé

Which class of learners are not included under “Exceptional Category” ?

(A) Slow (B) Retarded

(C) Normal (D) Gifted

oeyc{p8aeNy psA&y {LyDosc “ae{vy¢ ae LYAy~ V¢ YUYaeAyAY FLY D {%geSct
(A) EGALYZY YIRSTY jeecey "0Ye¢ LYAyC Vee

B) Eca~ "+Ly+c¢RaeLey OUYf LyAyc yee

(C) EGEEAy “eevy YO8 "+1y¢ AeeS+Uy Odlg LAy yae

(D) “eevye yO& O°ay{Ay JeeO'y jeecey {y yee

Which one of the followings is not a merit of use of teaching aids ?

(A) Enhancing content knowledge of the teacher

(B) Making learning process easier

(C) Creating interest of the child for the topic

(D) Imparting concrete knowledge relating to the topic
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'OYE¢, E+ae V¢ D'LYAY~ V¢ YUYeeAY 'V seAyee ceyc{p8aeNy {LyDos¢ Oae™#"
(A '6YIGENyc Eze~cty UeyF B {yQc yee-Eé~¢ yae p5{Ay Obcey R
(©) E+y~ENy¢ Eae~cty UeyF (D) DuyR’'8yic H E+ y~ ENy¢ Eae~cty

Which of the following is achieved by the use of Audio-Visual Aids ?

(A) Eyesightis sharpened

(B) Visual and Auditory coordination is established

(C) Hearingis sharpened

(D) Both hearing and eyesight are sharpened

ceyc{p8aeNy {LyDos¢ "aeAy'yEcOtyee Eca~Ay FLy D ae’yaecey ce&y{Uyo ?
(A VeLYAY “eevye "€OLYAY V¢ YUYeaBy YeLyAy Ecaseyeecey “otye
(C) ECE&{Lyd¢y+cLy Eca~ Lyae¥0¢ (D) 'VAYSTY Ecése’yeecey

Which one of the following is not an element of mastery learning ?

(A) Use of alternate text-book (B) Alternate methods of teaching

(C) Child-centred learning activity (D) Group teaching

f{~ daety+ SOUYLYyae¥0¢, LYAYC Vae{ V{Ay {SeescF S~¢ty "+E§ vycLuy OpeeT
Obae™aecey LyAyc yee “seBEByesSHofi~Altsbbiasielb D {Ay Aee ™aeAyct
(A) AuyeeeO  (B) +Oétye () O='6yE; (0) UyAyeelyAy

A student derived immense pleasure by solving a mathematical problem correctly while

doing homework and became interested to solve the next problem — This is based on
which law of learning ?

(A) Law of readiness (B) Law of exercise

(C) Law of similarity (D) Law of effect
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(A) OeepS+cLy ycLyaeE B) O06feeYENYCAY VclLyseE
(©) AuycjtyeeAy yelyeeE () {Ly¢y-ee"OaeAyé "ye;yoeyAy Yol

Which one of the following is measured by continuous comprehensive evaluation ?
(A) Holisitic development (B) Development of creativity

(C) Development of experience (D) Development of divergent thinking

f{~ Ectee$0Ay J yopaeceyAy {EdACLAD YA feymiAT yafier Hy®O Uy,
LyAy¢ Yee ceych{;y {LyDO6 "Ayéa~ LyAyee¥iceB$eeF ?

A Auyc{¥aeSe¢ tyee "Ayéa~ B) L&ytyeée "Ayea~
(C) FLyLy "Ayéa~ (D) b{ceyee By V¢ "Ayea~

Which test is conducted to estimate the future efficiency and achievement of a student
based on his present educational achievements ?

(A) Aptitude test (B) Achievementtest
(C) Unittest (D) Attitude test

ceyc{p§aeNy pSA&y {LyDdsc FLYy peety+aeOiaLy “aefvy:ae LyAy~ As ?
(A LyAyee'see (B) +'YEOGRY {V@YocAydYe () “+TYCAY

Which of the following is a dimensional teaching aid ?

(A) Black Board (B) Display Board (C) Still Picture (D) Model

“+ee$beLy V¢ eeAYRAY Ecase$oépae{cey beQe 1y ... ceyc{p8aeNy {LyD6 D
(A YOy vOdByaAY beemyZY viepABRHEFG AN~ LyeAyceycLy ac;yoes
By which of the following methods the pupils of primary school mainly gain experience ?

(A) Concrete observation (B) Hearing from others

(C) Imitation (D) Imaginary thinking
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ceyc{bSeeNy&IDas§tHELy Eca~Ay FLY D ae'yeecey ceéy{Uyo ?
A) A$6{yee™LYy Eca~ B) A{ az:Loyty xeelRé Eca~

) EcalLy Q& uy OLy=+cR (D) AszemeytyyelRé Eca~

Which of the following is not an element of activity-based learning ?

(A) Meaningful learning (B) Relatively permanentlearning

(C) Very active teacher (D) Pleasantlearning

eyc{p8eeNy {LyDos¢ YUEY{E+~ER Ecaae'yaecey V¢ yxaeAy FLY { YOEGI, oet
(A) f{~ EcALY FLy OpR{AY FLyee ™#LY {E+~&{Ay Ecace'yeemey LYAY;y¢

B) EcaLy {SaescF {E+~&{Ay "aevy{'yB Aoy {E+~e{Ay Ecase'yaeoey LYAY;yq
€) EcaLy Ly+paecey R{Ay {SeescF {Ay {SaescF {E+~&{Ay Ecase’yeeoey LYA
(D) {SaescF {E+~&{Ay poeycsAy 'y seeAyae EG\YAyee Ayase LYAY:yC

Which of the following is not a characteristic of multi-grade teaching ?

(A) One teacherteaches simultaneously in more than one class

(B) Theteacher gives task in one class and teaches in the other class

(C) Theteacherteachesin both the classes serially

(D) While teaching in one class maintains discipline in the other class through the monitor

{LyDos¢ ObfoeyaeSLy Ac;yeyAy FLY D ae'yaeoey eey{Uyo ?

() {Ly¢y+ee"OeABp figipdeienycheQ@eybragsh yoyoeiiytyeyty 'y yeyoe
Which is not a component of creative thinking ?

(A) Divergentthinking (B) Convergent thinking

(C) Flexible thinking (D) Novelthinking
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(A baeyeélepee{cey {VEUYCtY "Ye yeelyAy;ey

®) “+feepaef{oey Ecaae VCIR{AY Ase{ayee Yy LyAY;ey
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{O LyseAy{Ay Ayay°c Aceyae'y¢ LyseAy{~
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AzeLyseEAY ¢ e0¢ ceyc{paeNy {LyDO “yA&y f~ae{Y ?

(A) S»EAy

(8) bUyeecely

(C) Acey y

(D) O uy™

{LyDO OpR{AY Acey;y AnyLyaeAy V¢ ae'¢c AyUycsHayee { Jeeayc LY Yo Tyee{Ay
) {F{TY{HAY {LY YAYY "0$# V& cey $Hayee

B) {{TV{ H{AY {LY YAy S+Uybae{cey ey $#{ay

(©) {F{TY{ VAV {LY JAY Oi%a0¢ 'yey+ ey $#Hay

O) {¥ATY{ V{AY Ve Yoty pey yoey, Oi%ade yey+ S+Uy tyeeAyee H "0$# yé o
ceyc{p8aeNy pSAEY {LyDOos¢ "LyseAy-"aeAyeae yaeAy' "yscAy Ve{El~ ?

(A) Eicey¢-ceycAyaeLyseAy B) Wseyae ycUyeoey
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(A) 1921 (B) 1941

(C) 1931 (D) 1951

E™@&pP...usey A epV> AEzxy DopsNS ?

(A) BOeya/EaxyADep$s (B) A™ep$/AEey™ep

(C) Axy$rep$r (D) B{MeaeuN$... ep$r
§6cRySaepciyaeh$ A ep$ c28eepbep$s epMeei$ ALE=y!Dep$s ™BPESC
(A) EG3ARY*W...

(B) Ec3Any*Veelcdysep$

(C) EcM>/Eaeybep$s

(D) AGIM>/Ezeybep$$
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ENGLISH

Answer the following que stions choosing the corre  ct alternatives given (Q. Nos. 61to 70) :

61.

62.

63.

64.

65.

66.

The four countries of the world, where ‘English’ is a Mother Tongue are :
(A) United Kingdom, United States of America, Australia, Canada

(B) United Kingdom, United States of America, Australia, Japan

(C) United Kingdom, United States of America, Australia, China

(D) United Kingdom, United States of America, Australia, Russia

If RMSA (Rashtriya Madhyamik Sikshya Abhiyan) is being organized in the State level by
OMSM (Odisha Madhyamik Sikshya Mission), SSA (Sarba Sikshya Abhiyan) is being
organized in Odisha by :

(A) SCERT (B) DPEP (C) DPC (D) OPEPA
In Odisha English is being taught as language.

(A) 1st (B) 2nd

(C) 3rd (D) 4th

The right sequence for learning the four Macro Skills is :
(A) Writing, Reading, Listening and Speaking

(B) Reading, Writing, Speaking, Listening

(C) Listening, Speaking, Reading, Writing

(D) Speaking, Listening, Reading, Writing

‘Skimming’ is a subskill of :

(A) Listening (B) Reading

(C) Writing (D) Speaking
Summarising, note making and reporting are associated with skill.
(A) Reading (B) Writing

(C) Listening (D) Speaking
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Holistic Evaluation of learners is done by :

(A) Unitend Evaluation (UE)

(B) Term end Evaluation (TE)

(C) Continuous and Comprehensive Evaluation (CCE)

(D) Month-end Evaluation (ME)

The Right of Children to Free and Compulsory Education was made in the year :

(A) 2007 (B) 2008 (C) 2009 (D) 2010

What step does a teacher have to undertake to facilitate reading habit of a learner ?

(A) Reading News Papers (B) Library Reading

(C) Picture and Map Reading (D) Allthe above

‘By Education, | mean an allround drawing out of the best, in the child and the man ‘body’,
‘mind’ and ‘spirit’. This was told by :

(A) M. K. Gandhi (B) Pt. Jawaharlal Nehru

(C) Dr. Sarvapalli Radhakrishnan (D) R.N.Tagore

Read the paragraphs mindfully and answer the following five questions (from 71
to 75) choosing the correct alternatives

This is a story about the great Moghul Emperor Akbar, who ruled India about 500
years ago. His capital was Agra. Akbar could not read or write, but he was one of the best
and wisest kings that ever ruled India. Although he had no education, he had great respect
for learning. He invited some of the greatest scholars from different parts of the country to
come to his court and help him to rule the country. He chose nine of these wise men to be
his close advisors and to follow their advice in all matters. These nine wise men were
known as ‘Nava Ratna’ or the nine Gems of Akbar's Court.

The most famous of the Nine Gems was Raja Birbal, who was always at the Emperor's
side. Birbal had a great sense of humour and often said things which made Akbar laugh.
Whenever Akbar felt sad, he called Birbal to tell him a joke or a humorous story. Birbal
never failed to make Akbar laugh. But, although his stories were funny, there was great

wisdom in them. Akbar respected him and loved him like a brother.
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The unusual thing about Akbar was :

(A) He was one of the best and wisest kings of India
(B) He had great respect for learning

(C) Hewasilliterate

(D) Heloved Indians

Akbar invited his ‘Nine Gems’ from different parts of the country with a view
to:

(A) helping him to rule his Country (B) listening to stories from them
(C) listening to their songs (D) getting himself amused

The ‘Nine Gems’ of Akbar’s court were :
(A) Scholars (B) Singers

(C) Musician (D) Dancers

Birbal had great sense of humour and often said things which made Akbar laugh. The
underlined word in the sentenceisa/an

(A) Noun (B) Adjective

(C) Verb (D) Adverb

Birbal for Akbar was as loving and respectable as a

(A) minister (B) courtier (C) storyteller (D) brother

Read the paragraphs mindfully and answer the following questions choosing
correct alternatives.

In football, hockey and other games the length and breadth of the playing area is
fixed, but in cricket the playing area can be of any size. A sixer at Melbourne Cricket Ground
in Australia needs to clear much more ground than it does at Feroz Shah Kotla Ground in
New Delhi. Moreover cricket grounds can have different shapes.

Mumbai, the first Cricket Club of India, was founded by Parsis in 1848. India played
its first test match against England in the year 1932. C. K. Naidu, an outstanding batsman
of his time was the country’s first test captain.

In today’s world, television coverage has made cricket very popular. Children in rural
areas love to watch cricket on television. Within a few years cricket has become the most
popular sport even in small towns and villages in India.
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Cricket has become popular all over the world. But our country has the largest num-

bers of viewers in the world. For cricket, India has the largest market. Therefore, South
Asia has become the centre of cricket playing activities and the Headquarters of ICC

(International Cricket Committee) has shifted from London to Dubai.

76. The country which has the largest number of cricket viewers in the world is
(A) India (B) England (C) Australia (D) WestIndies
77. Asixer at Melbourne Cricket Ground in Australia needs to clear much more ground than it
does at Feroz Shah Kotla Ground in New Delhi. This means :
(A) Melbourne Cricket Ground is smaller than Feroz Shah Kotla Ground
(B) Melbourne Cricket Ground is bigger than Feroz Shah Kotla Ground
(C) Melbourne Cricket Ground is as big as Feroz Shah Kotla Ground

(D) Melbourne Cricket Ground is oval
78. C. K. Naidu was a great
(A) allrounder (B) bowler (C) batsman (D) wicket keeper

79. Cricket has been very popular these days because of :
(A) Children’sinvolvement (B) Television coverage

(C) Wind fall money (D) Honour and dignity

80. The Headquarters of ICC was in
(A) London (B) Dubai (C) Mumbai (D) Melbourne

Answer the following questions choosing the correct alternatives given (Q. No. 81 to 90) :

81. Mohan’s motheris L. P. school teacher.
(A) a (B) an
(C) the (D) None ofthem

82. Dr. Manoj Das is a versatile writer. The underlined Noun phraseisa/an

(A) Object (B) Adjunct (C) Complement (D) Adverb
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83. Please don'tthrow a stone the monkey.
(A) to (B) against (C) on (D) at
84. Sima sang

(A) inthe town hall yesterday beautifully
(B) Dbeautifully yesterday in the town hall
(C) Dbeautifully in the town hall yesterday
(D) yesterday beautifully in the town hall

85. My friend Bishnu presented me with a/an camera on my wedding day.
(A) beautiful new American (B) new beautiful American

(C) American new beautiful (D) American beautiful new

86. Radhawas made at the party.
(A) dance (B) todance (C) dancing (D) danced

87. The police failed to catch the criminal. Before they arrived at the spot, the criminal

(A) escaped (B) would escape

(C) had escaped (D) was escaping
88. If Gandhi made a promise he it.

(A) would keep (B) willkeep

(C) kept (D) would have kept

89. Which of the followings is right ?

(A) How are youmy dear! (B) How are you, my dear!
(C) How are you my dear ? (D) How are you, my dear ?

90. Mrs Mayuriis a grass widow. The underlined idiom means :

(A) Ayoung widow
(B) Awidow who has illicit relations with men
(C) Awoman whose husband is temporarily away from her

(D) Aworking old woman
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MATHEMATICS

23567 {A He Ay xzeceyéR paeceyAir BpisEopger peeceyAy Opic p3{AY "ae$oL:
(A) 2353 (B) 2535 (C) 2553 (D) 2355

What is the difference between the sum of the place values of 3 and 6 and the sum of the
place values of 5 and 7 in 23567 ?

(A) 2353 (B) 2535 (C) 2553 (D) 2355
oeyc{p8aeNy p3A&Y {LyDosc 4é'y+"yp {poAycLy O0Q¢ e A{s ?
(A) O B 1 €) 2 (D) 3

Which one of the following is the smallest prime number ?

(A O B) 1 (€ 2 (D) 3

A, B, C HD L&y {ceyB Svycty "yeeAycAZinBimE- (RS 05 chERye@ety DNyG Sé
vycLyu ?

(A) A>B>C>D (B) A>C>B>D (C)b>C>B>A (D) D>B>C>A

If the greatest four digit number using A, B, C and D is ABCD, then which of the following is
true ?

(A) A>B>C>D (B) A>C>B>D (C)D>C>B>A (D) D>B>C>A

8yBs¢ 00Q¢seAy ay. Oze. S& HeS0 OO (R dy BEpSHAY {SeS§Fa0 dQ2ire
06Q¢eesc {Ly{Ty ?

(A) 22 (B) 21 (C) 20 (D) 18

The product of the L. C. M and H. C. F of two numbers is 630. If one number is 30 then what
is the other number ?

(A) 22 (B) 21 (C) 20 (D) 18
oeych§ OAVAYLYAYSC{AY {LyDosC 'y ¢tyeR {Oae acey {Uy Y ?

8 23 15 1
27 3 4 2 2 2

N 1603 5 8 8 o3 1 o L5
(A) 81 8 ()279 ()42 ()22
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Which is the second step in the following simplification ?
8 23 15 1
27 3 4 2 2 2
N 163 5 88 o3 1 o 18
()818 ()279 ()42 ()22
25.0203 = 20 + + + "2eB6 aeyc{p8aeNy psA&y {LyDOsC vy¢
2 3 2 3 2 3 2 3
51_1 51_!— 5!_1 51—1
*) 100 10000 B) 100 1000 © 10 10000 ©) 1000 10000
Which one of the following is correct for 25.0203 =20 + + + ?
2 3 2 3 2 3 2 3
51_1 5a_a— 5a_1 51—1
*) 100 10000 B) 100 1000 © 10 10000 ©) 1000 10000

2012 pOgUYee{Ay {¥:D0 {AsY sBer BezbOcUyee{Ay TyeetlyAiky figpyee >
{TV{V {AYYCHAY biay {Ay VeellLy ETyLyYee {Ly{ty 0y eBayee ?

(A) 10 (B) 15 (C) 20 (D) 25

The price of a radio in the year 2012 was Rs. 320. In the year 2013 it became Rs. 368.

What is the percentage of increase in the price of the radio per annum ?

(A) 10 (B) 15 (C) 20 (D) 25

Qé_yﬁei yee €y "&AVAYGG{Q pe foc2say rfﬁf@@@"@@“@e : AW_W 1) bﬂy{Ay EeLy
{Ay "Uyo#{ay > {TV{ V ©&hsAViet@aic {|IOceuyAey LysLy {I0ccuy{Ay "Uyo# \
(A) 10 W5 pcoeygsyl 11 WIS pcaeycga) 11 W30 pcoeygell 12 WAS pgoeyesu
Subash Babu left Paralakhemundi by train on Thursday at 8.25 p. m. and reached Cuttack

station at 7.35 a. m. on Friday. What time did Subash Babu take to reach Cuttack from

Paralakhemundi ?

(A) 10hr15min  (B) 11 hr 15 min (C) 11 hr 30 min (D) 12 hr 15 min
FLY tyeeAyLEy yZjeeB YSo{atySayaRjeAy fasmapiiiayd yeeAyAY {yOWo, {
(A) 4cm (B) Acm (C) 2Acm (D) 4Acm
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When a wire is bent to form a square its area becomes A% cm?. What is the length of the

wire ?

(A) 4cm (B) Acm (C) 2Acm (D) 4Acm

{SeescF {Lyee~Ay "Ay¢iAYLY {Lyee~Ay As@yyitayi{i fiyesecAy "Aycbae—~ {Ly{t
(A) 168° (B) 102° (C) 78° (D) 12°

The complementary angle of supplementary angle of an angle is78°. What is the measure
of that angle ?

(A) 168° (B) 102° (C) 78° (D) 12°

{SeescF xiAy {Lyse~é ty~cueyfAy ayo yetey FUyaeAy {LyDovyae{Ay A yxazece
A)  Ty-cueyfAy Ay.. {"0E{Ay ®) Ty-cueyfAy yUyc...{"6E{Ay

(©) tTy-cueyfAy LY, y6 D{Ay (D) 1y-cueyfAy FLY {Lyee~{Ay

Where does the orthocentre of an obtuse angled tringle lie ?

(A) Inside the triangle (B) Outside the triangle

(C) Onthe hypotenuse of the triangle (D) Anangle of the triangle

{SeescF ty+cueyfAy {SeescF ngg 6 Wyyee Ay Mkaey Ay Y yoegLyee~ 'y
{Uy{ay, FUyaeAy OY¢Uycty A;y...x {Lyse~Ay "Aycbae~ {Ly{ty ?

(A) 100° (B) 80° (C) 120° (D) 60°

The measure of an external angle of a triangle is 80° and the ratio of the two internal opposite
anglesis 3:5. What is the measure of its adjacent internal angle ?

(A) 100° (B) 80° (C) 120° (D) 60°

DABC® DDEF F Y& ® A=m® D, mb C=mP E {UV{&EE LyaeUyaeO{ey Opseay ?

(A) (B)

(©) (D) FpaeceyzZy pSA&y {Lyo~Ogs¢ ceyé
DABC® DDEFandmBbA=mb D, mBDC=mbE. is equal to which one of the following ?

(A) (B)

© (D) None of these
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104. {SeescF ceyc'yee Ocaycf AyAy {Ly{tyeesc OptyAy "6ityAy $eeF ?

105.

106.

107.

108.

ZR -

(A) 0 (B) 1 (C) 2 (D) 3
How many plane surfaces has a solid cylinder ?

A) 0 ® 1 ©) 2 O 3

{SaescF OpWaeeyAy EEl6 00Q¢ae H ™aeAy 00Q¢ seAy {YaeeSuyAyA&Y FUYe
{Ly{ty {Uyy 2

(A 14 (B) 12 (C) 10 (D) 8

What is the value when the number of the sides of a cube is subtracted from the sum of its

vertices and edges.
(A) 14 (B) 12 (C) 10 (D) 8

{SeescF ARty acty+Ay LY, yoscF AZyoey LyAyeeYsaeBdc, Fvyee{Ay {Ly{tyee
A 2 B) 4 ©) 6 D) 8

A diagonal of a rectangle has been drawn. How many angles can we identify ?

A 2 B) 4 ©) 6 D) 8

oeyCh8{AY 'ycAxYieB$# yae {LyDO BOAyaefé AGAYLEY 'éyBsc "+1ycOp AOE]
A K B) E (©) H D) R

Which of the following English alphabets can be divided into two symetrical parts ?

A K ®) E ©) H D) R

{SaescF Op'y ¢ yeeUe&y ty+cueyf AseLoyTycAy LyseSTLEY {paeYc {LyDO "yaed

(A) {Lyeecely  (B) +¢fchu (©) OcaycfAy (D) GAyeebghU
The idea of which object can be given by folding a paper having the shape of aisosceles
triangle ?

(A) Cone (B) Prizm (C) Cylinder (D) Pyramid
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109. {Sees¢F A™# YI6{Ay O©zeUy H 'yceey O0Q¢ ze {Ly{ty ?

110.

111.

112.

ZR -

A) 52 00Uy 1Byc@&Y 00Uy A¢jc@y OO©2UY Jryc&y O©xUy 4 yeoey
How many weeks and days are there in a leap year ?

(A) 52 weeks and 1 day (B) 52 weeks and 2 days

(C) 52 weeks and 3 days (D) 52 weeks and 4 days

{SaescF By VAY "Ayc™# FUyaeAy V¢,aeOAyY {Ly{ty Sé~ OUy Opaecey ?

A p (B) (C) 3.1416 D) V10

The circumference of a circle is equal to how many times of its diameter ?

22
(A) p B) — (C) 3.1416 @) V10

“+eelly “+ee$pcly EcEEpaeceyZey S~¢ty Ecaee’yeecey "B ceyc{pSaeNy LS
(A feaepetycly acty+ AZycey H pae

(8) Dayfyee H{yOW0¢, ceyc yolps Yo pae”

€) {¥xeS H yc{RaeS Ly+c¢hRee 7
D) O0Q¢ @ S~meyae

Emphasis is given on which of the following for teaching Mathematics to the pre-primary

pupils ?

(A) Drawing and measuring Geometrical figures

(B) Measuring and determining height and length

(C) Addition and Subtraction

(D) Counting numbers

"AVC{ VE{AY YOeAy A yxctyc 'oyic{Lyee~Aey {LyD6 {¥saeYeesc Acey¢, tyc{oe
A) VY, {dees () Vyaep, YeeUygeyr AxS, d () DAy, tyAy
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Which pair is different from the other three so far as the position of the object in the envi-

ronment is concerned ?

(A) Big, Small (B) Left, Right (C) Front,Back (D) Up, Down

ceyc{p8eeNy S~cty Ecaee'yeeey "*1yc O,Ly}ty {LyDd DNycs¢ péyay ?

(A JEEI~ Ajae figNgy ®) Ase{AyaeUp i ek~

€ AV{AyeUyO@EyPEgey () {LyDosc eey{Uyo

Which of the following statements about methods of teaching Mathematics is wrong ?

(A)  Analysis from unknown ® known (B) Inductive specific ® general

(C) Deductive theory ® solution (D) None of these

feaepctye{Ay %:ENy¢ piAyLY OpO¢ ae Opee™aecey ceyeh(:y, ceye{pSeeNy {Lyl
A) Y{EEI~ ®) OO{EEI~

© "+${b Ve{EEI-H {Ay O6{EEID) AV{AyeeUy

Which of the following methods is adopted to solve logical problems in Geometry ?

(A) Analysis (B) Synthesis

(C) Firstanalysis and then synthesis (D) Deductive

S~CTYAY ceye by IFHERBY +aeShely Yo'y aeAYRAY Ecae$oepae{je? ~eelt
(A) 06Q¢ee "AycactycHS~ey (B See~¢tycLy O6{LyTYAY V¢ yUyee
©) YYA&y Ozecey Ly-+p{Ay OgéLyAy+D) AceéyEEAycey H Oity+ceycAiy ~
Which skill is not usually achieved by the pupils of primary schools so for as the minimum

level of learning is concerned ?

(A) Identification and counting numbers (B) Use of mathematical symbols

(C) Arrangementin descending order (D) Exercise and formula derivation
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S~¢ty-Ecase'yaecey{Ay Ecase$oépaeoeyZyAy V¢ yxaeoey piayielRey Lysel
(A) YSOELyAy~ LYAyc Vee “eeB0O (B) Eca~Sty ey yoAytyee acUySs LYAyC
(C) &Yec "Aychae” LYAy¢ Ve “eB®) {E+~€ +{paeOcey (Dy68,y) "&B0

Why is placement evaluation of the pupils done in teaching Mathematics ?

(A) For classification of pupils (B) For identification of learning deficiency
(C) For measuring intelligence of the pupils (D) For class promotion

f{~ daety+ 100{Ay 1 pcEseB 110 {ayQ#ayee > deety+Ay FuyAyc tyesc O6{Ea
“otyc Ayayecey LYAYE{Y ?

(A) S~eeyOoQ¢ee OUYcTy "Aycactyc LyAyeB{y

B) 00Q¢aeS~ceyee AuyeaeO LyAyeB{Y

©) 00Q¢ Ay xeemyéRpaemy &ylaeB{y

D) {Ya2eSLy+cRae Apy¢aeO LyAyaeB{Y

A pupil wrote 110 being asked to add 1 to 100. To rectify such error committed by the
pupil, which of the following methods should the teacher adopt ?

(A) Toaquaint the child with counting of numbers

(B) To give exercise on counting the numbers

(C) Explain the place value of the digits

(D) Practising addition

{SeescF yOeLey Obeecey TycoeycuyeesS LyAyc ey%@%%mﬁm S agipee Bl
Ecaae$0eAy {LyDO 'yatyeel &y OideeDdg ?

(A) MyS8eeEOAY ay y H UYAY vicLuy pyee J{AY {ayQ# seAéyde

B) HyS8seEAOLEY Oe{ZytycLy uyeelae{Ay {ayQ# aeAéyde

(©) Oee{ZytycLy pyeeleeLéy Sae~¢tycLy pyzelee{Ay {ayQ# eeAéyde
D) See~¢tycLy pyeeleeLey Oae{ZytycLy pyeelaef{Ay {ayQ#"aeAéydzg

By dividing an object into three equal parts, two parts were taken. A pupil wrote it as 3

What skill of the pupil does it signify ?

(A) Knows how to write the numerator and denominator correctly
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(B) Knows how to write the fractions in symbolic languages

(C) Knows how to write the symbolic language in mathematical language
(D) Knows how to express the mathematical language in symbolic language
119. S~¢1y Ecéze'yaecey{Ay +LyAY “+1ycAY {LYDO Ly+ps¢ vycLay ?
() LyAyviesieykyacoygAy O HapRybiayc R ey
® “+LyAACHNFAYOas oy vacsideyibgpiaye elioey
©) “+LyAyacuUygy{v.astdejiyO-a0pfypiay . selRoey
©) “*LyAyitaeyby - oyEsbiay seeBD Yooy
Which order is correct in teaching Mathematics by Project Method ?
(A) Planning® Identification ® Execution ® Evaluation
(B) Identification ® Execution ® Planning ® Evaluation
(C) Identification ® Planning® Execution ® Evaluation
(D) Planning ® Identification ® Evaluation ® Execution
120. f{~ Ecaceos; ¢ {ayQuayee, FUyee Ecaee$08Ay {LyDO “+LjeeAy 1yoscLey C
(A) UyS8eeEO6AY ayy H UyAy O,Lyo{Ay ™aeAy~ae ceyeeUy]
®) OpUYAY VcECT nyS8aseEOAY {¥saeSLy+cRae YCIR{AY ™aeAy~ae ceyaeUy]
(©) ay. Oee. Sé. eyc,yoR LyAyc yaeAy ™aeAy~ae eyaeUy]
©) Opayy H OpUYAY JeiB{AY ™aeAj~ze cejeely]

1 1 1
A pupil wrote 5 3 5 which type of error of the pupil does it indicate ?

(A) Noidea about numerator and denominator
(B) Noidea about the addition of fractions having same denominator
(C) NoideatofindouttheL.C. M

(D) Noideaabout equal numerator and denominator
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ENVIRONMENTAL STUDIES

121. paecey y OYLUYLYAY {LyDovyae{Ay AyNY d~ze Lyae¥o¢ {UyaeBSeeF ?

A) UyeeBaypu B) YaeHp¢aeeuyOu Ly e udeany
©) {Sase{pA&yayoOu D) pity+ OaeAy~&

Where the filtration of blood takes place in human kidney ?

(A)  Hilum (B) Bowman’'s Capsule

(C) Glomerulus (D) Ureter

122. {LyDOs¢ pycY {E+~é peyNy ?

A {ayeS+ee ) Ly aO¢HLyoAuy
© {VAV{VAYe () Oyuy}
Which one belongs to another class ?
(A) Pellagra (B) Kwashiorker
(C) Beriberi (D) Scurvy
123. {LyD0 '&yBs¢ S+UV{AY Oi%u6¢, "EYach{Ay D'y¢ty {UyaeB " yo{Ay AO U&yF ?
(A) “&y™ H EéLy+ B) Eceyc H Re{AyoeuyOu
©) oyUyatyc H Eceyc (D) EéLy+ H Re{AycetuyOu
In which two planets the sun rises in the West and sets in the East ?
(A) Mercury and Venus (B) Saturnand Uranus
(C) Jupiter and Saturn (D) Venusand Uranus

124. FLY AyeeOaeRoeycLy {¥40ScLyAy a&'y+t1yp FLyLy {UyDdc :
(A) B{ayLuys+cef) "Aype~é (c) A~é (D) AzeBcely
The smallest unit of a chemical compound is :

(A) Electron (B) Atom (C) Molecule (D) lon
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E D A B C

—100—80 —60 —40 —20 O 20 40 60 80 100m

D"Ay é({‘TS'H\S(; FLY OAyQ C')Y!_y"$Lé'xi\ @g?@ﬂ@y&/@ﬂw %ng\ Fyo Tye
"B QfAILSAGY ¢ Y™aece§{AY {SeescF {ayQeaalé Vet Py tRTAINRIAY
"Uyoc{ay F yo {OvyeeAey {ayDsg QG @{EY Yagafdyc f~LY ATYcLy+p LYAY

tyeeZyAy Yoxae ooy Ya$aeLy+{p {UyDdc :

(A) 100 p¢. Koo pc. (B) 100 p¢. H100 pg.

(C) 160 p¢. kb pc. (D) 160 p¢. H40 p¢.

The diagram above represents a straight road in which point ‘A’ is taken as 0 (zero) and
on its both sides marks are made after every 20 m. A person started from ‘A’ and walked

upto B on the road and from there turned back and walked upto ‘D’ on the same road. The
distance covered by the person and his displacement are respectively :

(A) 100 m.and 100 m. (B) 100 m.and —100 m.

(C) 160m.and 40 m. (D) 160 m.and —40 m.

{LyDOsG pycY {E+~éuyeNy ?

(A) OyLOyLYy (B) %Loytay () “aeLyxAyé () UyeOuueyou
Which one belongs to another class ?

(A) Kidney (B) Liver (C) Stomach (D) Lungs

(a

N

(b) ADE 0Ylc "2eB0 feyayar peQe¢LyseAy~ Afs >
(© O &yf {LyeevyAyé crayety L5eBAy~ Als >

(A) (a) VycLUyb-H©) peyaay (B) (b) VycLUycFH(@) peyaay
(©) (c) vycLUYaFH(6) peéyauy (D) (a), (b) H(c) p&yauy

(@) Green house effect is the principal cause of global warming.

(b) Depletion of forests is the principal cause of the acid rain.

(c) CFCisacause of the green house effect.
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(A) (a)is correct and (b) and (c) are wrong
(B) (b)is correctand (c) and (a) are wrong
(C) (c)is correctand (a) and (b) are wrong
(D) (&), (b) and (c) are wrong

{LyD6 Oity+sc péyaay ? (+{ty¢ Ly Oity+{Ay V¢ yUbytTy +tyeLySevYcLy {O)

(A Lysa#psFs (B) VAY) =ma’

(© *GTyciEmygmgh (0) STyof EREJe 1mv?

Which formula is wrong ? (The symbols used in each formula carry their usual meanings.)
(A) Work (W)=Fs (B) Force (F) = ma?

(C) Potential Energy (P. E) = mgh (D) Kinetic Energy (KE) = Imv?

{LyDOsC pycY “+LyseAyAy AyNy YUycey LyAycSaeF ?

(A) OyLUyLyeéR ™pceyé (B) ¥aLOytuy ™pceyé

©) Ly¢ae{Ayeesexiy ™poeyé (D) UEyOUUEyOER ™pceye
Which one carries different kind of blood ?

(A) Renalartery (B) Hepatic artery

(C) Carotid artery (D) Pulmonary artery

s A

) UyBfee (B) Yidlree ©c) YOy (D) ™oeéyizyaseAy
Considering the causative factor which one is different from the other three ?

(A) Cholera (B) Tuberculosis (C) ChickenPox (D) Tetanus
ceyc{p8eeNy pSAey {LyDOs¢ Vejeecey EcaeAy peQ¢ ayac ?

(&) {YoscLy YeLyeeE (B) Lypo LyeEAyTyee yeLyeeE
©) Aee{yScLy ycLyeeE D) FOpO
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Which of the following is the main objective of Science Teaching ?

(A) Cognitive development (B) Psychomotor development

(C) Affective development (D) Allof the above

YUyG...-OUyOray Ecéee’yeecey Eca~ "1yc{Ay Yejeecey OUycty {LyDO VeI
(A) AyOzeRceyy (§jdfmBy ycjeecey(C) Wiy- Yojeecey (D) Wij{SeeAy

Which subject is associated with science in inter-correlation method of teaching learning

process ?
(A) Chemistry (B) Life Science (C) Geo-science (D) Geography
{yooeytycaey Ycjeemy Ecase’yaeceyAy OlyAytyee “aeB0o Ecaly {LyDO {Yseefc

A) OUV aevy, {Yeefeeyee B) “eevy¢ {Yaefoeyae

(C€) FLyLY {3aeefoeyee D) {E+~é "AycaseAyoeyae {Ysaefoeyae
Which strategy should a teacher emphasize in day to day teaching science effectively ?

(A) Co-curricular planning (B) Lesson planning

(C) Unitplanning (D) Classroom management planning

{LyDos¢ FLY pe'y+¢ty “sefvys e LYAy~ Als ?

A OazBxuy () p{Yay (C) oeypéceyse (D) ‘yeesod

Which is a printed teaching aid ?

(A) Slide (B) Model (C) Sample (D) Chart

"yeeRe{Ay fAYER IrENVEECEY f{~ EcALy Lyesed SEaeOf{AY VAYUY Qf AyQe
YeeUyaeAy "s{Ay ayeeS¢$# yee fAyLy~zeLey {'yQaeB "éylaeB{ay > FUyae Ecal
(A) "AycasAyLY(®) 1YY e y™MaBYLPUYeERLY (D) 'YeSUYEGLY

“Water vapour is present in the Air” — This was explained by a teacher keeping pieces of

ice in the glass and exhibiting water droplets on the outer surface of it after a while. Which

role of the teacher does it signify ?

(A) Manager (B) Care-taker (C) Facilitator (D) Guide
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pUyaeOzeSAY OptyAy {LYDO {E+~EAY HiypcAiy” Als ?
A) "+$p B) 'y'¢tyéll () toytyéR (o) atréey$o
Ocean floor belongs to which category of landforms ?
(A) First (B) Second (C) Third (D) Fourth

{poO&pé VeeRé {LyDo6 “+LyaeAy FLy VaeRé + yely ?
(A) OsepRcLy (B) xaeceyéR () ceycBRty (D) AaeLyOvacLy

Which type of wind is monsoon ?

(A) Periodic (B) Local (C) Planetary (D) Accidental

{LyDésc fAY yeeReAy FL¥ ceycRaepLy ceéy{Uyo

A) AdaedoE B) Opé&y+ vyaeAé xaeceyAy 'yAytya
©) 'y+a&eWcpae D) Op&y+ "yoeyAsy xaewyAy Dayty
Which is not a factor controlling climate ?

(A) Latitude (B) Distance from the sea

(C) Longitude (D) Altitude

f{~ VeNyC 5 eyPAy faetyeR Aysef ${Ay Vae{aVE AyA&y y+UyYs 8AY ¥ac Ve

AtyeLy+b LyAVe( Y ?

® bUjseceyye, Y=eeUyve-e, {VO1yAR-e{Jtipsice y=eeUyve-e, pUyeece
(©) JigLiyayeee, y+aeUyve~ebUyeeceitye, Jyatyps~e, {yoTyAy~e, JicLiyay

A person travelling on N. H. no. 5 from Balasore to Berhampur will cross the rivers in which
of the following orders ?

(A) Mahanadi, Brahmani, Baitarani, Rushikulya

(B) Baitarani, Brahmani, Mahanadi, Rushikulya

(C) Rushikulya, Mahanadi, Brahmani, Baitarani

(D) Brahmani, Baitarani, Rushikulya, Mahanadi

ceyc{p8aeNy {LyDos¢ DYAY ceyeetycEE{tyaeD pbfAYAY YcOOTY¢ Afs ?

(A) bLYAY By" Aey Ley{pA&y BYy'Y  (B) Ycley By VA& bLAY By

(©) Ycley By VAeyLyLyos Byy (D) LyLyos 6y yA&y Oe{pAey By'y
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Which of the following is the extension of the north temperate zone ?

(A) From Tropic of Capricon to antarctic Circle (B) From Equator to Tropic Capricon
(C) From Equator to Tropic of Cancer (D) From Tropic of Cancer to Arctic Circle

{Lyo~Oc FLY {uyo{SaeAycLy xseceyAy {ESACLY py{"E¢ Ase™aeAycty {Yaefce

(A) PENY "¥i0¢{ ya~ (B) 0eyeRicty ¥i0¢{ ya~

©) "+1yed Voo {ya~ D) “{Ayeed "¥0¢{ ya~

Whatis it called to visit a geographical location for objective based observation in a planned

way ?

(A) Free observation (B) Controlled observation

(C) Directobservation (D) Indirect observation

+ee$peLy ORY{AY Lyee |yeeB Yoo "eB0O eych8aycQety {LyDO “»1y¢ O yoee!
(n) &acty+ "+'yE6cey (B) eYypéoeyee +'yEOORY

(©) {E+~eS8Uy "+'yEGeeye () {aty+ "Ayeuy-p-~

To teach U-shaped valley at primary level which of the following is the best method ?

(A) Displaying picture (B) Model display

(C) Class exhibition (D) Field trip

BtycUyaeO EtaElymieyidyyUyseAy LyAyeYieeBseF, LyseeAy~ Ecaee$oépa
(A) FLY OpR{AY Wse$# yee 'eyB yae ty{yee™#LYy GtycUyeeOcLy Ws~aep3
B) Gt1ycUyaeOcLy Ws~aeSeYcLey OUYT{AY p{cey AyQc aeAyc{y >

©) GtycUyaeOcLy Ws~ae SEYcLéy Ly+paeceeyOae{Ay LyUyc seeAyc{y >

) FOpO Lyae¥d¢ LYAYG aeAye{y >
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‘Time line’ is used in History teaching, because pupilscan
(A) establish relationship between two or more historical events taking place simultaneously
(B) remember historical events easily

(C) express the historical events chronologically

(D) Allof the above

“rae$pcLy OAY{AY BtycUyeeO Ecase’'yaecey ceycp{;y {LyDO “*tycsc A™#LY [
A) Yo {Va~ (B) "+'YE6eY () SAyLy$oey (D) “+LyAy

Which method is most useful for teaching History at primary level ?

(A) Observation (B) Demonstration

(C) Storytelling (D) Project

B1ycUyaeO Ecase’yeeey{Ay ac;yae H "+ Hyamie Figios et psEayzy HipxBsa
A) yU&ypeQe ag;yoey “+Ly+cRaeAy YclLyeeE WscSeeF

(B) Wsc$# yee Ws~aeSeYcLey Ye{EEI~ LyAyc yae{Ay OUyzelLy {UyeeBSeel
©) VG{EEI~aep#Ly ty$eAey "Ay ¥ Y0é O»ae y¢, Ws~aeAy Aiy {AYQ O%ay{Ay T
D) D{AyaeNy OpO 'yatyeseAy yeLyseE WschaeF

Thought provoking questions are aksed while teaching History, because they help the pupils
fo:

(A) develop divergent thinking ability
(B) analyse the incidents occured
(C) predict the occurence of the next probable event from its analytical account

(D) develop all of the above abilities

s A aa

(A {ayeel yOuyaw) Ayeef: Ouyaac) Ofyoeeay ceficeRpealyityc
Who is the protector of the Indian Constitution ?

(A) Lok Sabha (B) RajyaSabha (C) Supreme Court (D) President
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Y+¢SCEU “aaydse{pu+ 'y seAyee 1916 pD{HLEE B Pei QDY Emoey AaeBC
A p{+Sé-{apud{iysexyot O60yaeAy®BreBisal seayaetyu AseBaly

©) p{ayo-pc{+ee O60yaAy AseBoely(D) Ly¢ae yc{oeyslt pcEcely AeeBaeUy
Which administrative act passed by the British Parliament became a law of Indian Admin-

istrationin 1919A.D ?

(A) Montegu-Chemsford Ammendment Act (B) RawlatAct

(C) Marle Minto Ammendment Act (D) Cabinet Mission Rule
HyaeAyTy{Ay “+$p O"ee™eéceytyse 06S+aep {Ly{y {UyeB$#ayeae ?
(A) 1757 (B) 1857 (C) 1919 (D) 1942

The first struggle for Indian Independence took place in which of the following years ?

(A) 1757 (B) 1857 (C) 1919 (D) 1942

060'yeR OAYLYaeAY{AYy OaedO'ypae{oey YeuycY Lyae¥ite "eeBo LyseUyae a
(A) “+™eeceypie (B) Ayeel+"tyc

©) {ayeelLy Ouyee D) {YEAY foeyOze™aeAy~

To whom do the Members of Parliament owe their accountability for various functions in a
parliamentary form of government ?

(A) Prime Minister (B) President

(C) Lok Sabha (D) People of the Country

{L{1y1yp 06 ¢ ™aecey AuiyasthRe) Al pNE AR~ Aij{ (Wael~ze LyAy:
(A) 40 (B) 42 (C) 70 (D) 76

By which of the following constitutional ammendment act India has been declared ?

(A) 40 (B) 42 (C) 70 (D) 76
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